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Each section is compulsory. The marks distribution is same as shown in the question
paper. The blind students will be given 60 minutes extra time.
University has all rights to change the distribution of marks.
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@ve & : aEgfE w7 Section A : Objective Question

drz: aft oy afRad €1
All questions are compulsory.

1. smuEagEazbub:icdA:
(@ 'y,a ot ¢ T T AT (@) 'b',a AT c FTATH
(@) 'b’, a I ¢ BT FUT A § (=) ‘b’ afomfira 7l 8 1
In a proportion, ifa : b s+ b : ¢, then which is true :
(a) ‘b’ is gcometric mean ofgand c (b) 'b’ is arithmetic mean of @ and ¢
() "b’ is harmonic mean of a and ¢ (d) ‘b’ is undefined.
2. @wy=ax+b EEIE LIt T
@) 'y, 9T, it € (@) 'y, % 9T, Fde &
@)z, 'y 9, AR (2) FrT x ATy AT 2 |
Ify = ax + b then which is true :
(a) 'y" is indcpendent of x’ (b) 'y’ is dependent of x’
(d) Both x and y arc independent.

(c) 'x" is dependent upon 'y’

srrz AT 0% matrix ‘A’ #T transposc & aY F7 #e4 T ¢ :

If AT is transpose of matrix ‘A’ then which is falsc :

@@H" =A (b) (A+B)T = AT + BT

(c) (Ax B)T = AT x BT (d) (KA)T = KAT,

77 1500 7. 7T 7% St 7 #t 7 & vw AR aww F fy avgror A 2109, & o1 gwg w1 Fied

(37) &1 AT (@) 2 "1

(@) 2.8 AT (@) drAama |

If simple interest on Rs. 1500 at 7% p.a. is Rs. 210, then time period is :

(a) 2 yrs (b) 1.5 yrs

(c) 2.8 yrs (d) 3 ycars.

a7 40 T Y <fier 32 iy g garey & 47 faar sfter ferse fer

If a product worth Rs. 40 is availablc al Rs. 32 then what % discount is given :

(c) 30% (d) 25%.

P T

(2) 20% (b) 10%



6. ®Rw 15% mﬂnﬁﬂﬁm';mi n‘fﬂfﬂﬂmwﬂ‘r

322 sy w7 s ey & A € (@) 450 ¥7X

(=) 1300 oL il IIs it to Rohit at profit of ] 22

(%) 250 ¥ Sachin at gain of 15% and Sachin agjam sells profit of 12%. iy

-.-- . r in a : = rﬂr Kﬂpl .

If Kapil sells mobilc to ; ce of mobile ]

Rohit pays Rs. 322 then what is cost prt (b) Rs. 450

(a) Rs. 350 (d) Rs. 325.

c) Rs. 250

: :on B : Short Answer Question 5x8=40

gvg ¥ - wyIwiy ¥ Section B+
it & ccint &

i All questions are compulsory:

sergew afRy fRfivw gwre ¥ Ratios ! AHHTEA |

971 OR

e areft & e a A s ferw & g v wrh w1 srare /= g, o e 1 e 2 12T

grjmm%mtﬁﬁwgmm: 5:1,3243 Faquma # g
What will be the ratio of milk and water in the final mixture formed by mixing milk and watcr that

are present in 3 vessels of capacity 1 litre, 2 litre and 3 litre respectively and in the ratios 5:1, 3:2

and 4:3 respectively.
firsr cquation ¥ fa solutions s w51 §, v Hifsdr ;

Find the number of solutions of the system of equations

2x+y—z=17
x=3y+2z=1
x+4y—-3z=35.

931 OR
frg Fifa & FwfafEa a7t s7 oF unique solution # f 78 :

Docs the following equations have unique solution ? Prove ;

x—4y+6z=3, ~2x + 8y — 12z = —6, 2x—y+3z=1.
w7 w1 agraar § adiwoT 57 g9 £
Solve the system equations by Cramer's rule :
2x—-y=5 x+ty=4
#9491 OR
IULF matrix A T inverse 197 : Find inverse of matrix A :
T 2 3
n=l4 5 6]-
7 2 9

wiaed wgfa s it fm 2T, soafir 1,200 797 2 amdt @ 2 1,348.32 % 3 a7eit % w271
At what ratc of compound interest per annum, a sum of Rupees 1,200 becomes 1,348.32 in 2 years.

947 OR
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gfT ? 97 9 a1 978 AT FITA0 |
A T. V. was brought for Rs. 21,000, where its value was depreciated by 5% per annum. Find the

valuc of 'T'. V. afier 5 yrs.
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I income of Mr, Surosh increase by 20%, 30% and 40% in three years, then what will be his
Income niter 3 years,

waar OR

T e A ofrege sy # e 60,000 =57 afrr | 00,000 w8 w1 Friger Fyay
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| TR F 6 wigw a
fay e oyt wd W s it T 52,000 v W wT T R | e
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I business aj

% 7w W R wa

and Ken invesied initially Rs. 60,000 and Rs. 1,00,000 respectively. Afier 6

months Ray lel the business and in Girst year they both camed profit of Rs, 52,000, Then find the
Pt cirmed by Raj,

W fdrafy yw Seetion C ¢ Long Answer Question

e : et vt ¥ e @ |

2x12 24
Anxwer any two questions.

i
it ma Fre profit share wriy # 3.2 ratio #, % arx Frersy qrderefivg # arar § =y (‘;)l share sfire
4
il £

i -

) 'share e wr ey &, v 741 Profit Sharing Ratio # Sacrificing Ratio Frerfory |

Amit and Vidya are partners sharing profits in the ratio 3:2. They admit Chintan imo parinership
th th

who acquires (—E) ol his sharc from Amit and (%) sharc from Vidya. Calculaic new profit

sharing ratio and sacrificing ratio.

mmﬂmhmlﬁkmmmtmskmmwm

12 6 v 3wy ¥ wfirge A
bkmumi‘-uwznmmmmtﬁ?rﬁwmitnﬁwﬁwﬁrmﬂﬁil
A man can row boat in running water 1

6 km downstrcam and & km upstream in 6 hours. le can row
6 km upstream and 24 km downstream

in 6 hrs. lind speed of man in still water.
e maftwoi # inverse of matrix method & o i -

Solve the following equations by inverse of matrix method :

2X-y+3z=9
X+y+x2=6
X=y+uz=2

Wi anfife s srdanfRie = & s 5,000 Ty qr

T = % A e (1%)%‘:;?&'&:
o e 4% 6 7r 9 9

What is the difference between the compound interests on Rs, §
4% per annum compounded yearly and half-ycarly ?
33ﬁ’lztmﬁ=rh%qrwwﬁsﬁ3ﬁumhw%ﬁm

e e ffird |

WP F Aas g At E | v e EALR
By sclling 33 mt, of Carpet, a
Kind his gain or loss pereent.

,000 for1 -15 (onc and half year) at

person looses an amount equal 1o sclling price of 3 mt. of Carpet



